There are lots of dinosaurs.

There are lots of dinosaurs.

There are lots of dinosaurs.




It is so hig.

It is 5o hig.

It is so hig.



[t can run so fost.

[t can run so fost.

[t can run so fost.




It went snap and stomp.

It went snap and stomap.

It went snap and stomap.




The dinosauwr has spots.

The dinoscur has spots.

The dinosauwr has spots.




Some dinos.aurs c.an jump.

Some dinoscairs can jaump.

Some dinos.aurs c.an jaump.




The dinosaur hos o long tail.

The dinosaour hos a long tail.

The dinosaur hos a long tail.




The dinosaur hos o long neck.

The dinosaour hos a long neck.

The dinosaur hos a long neck.




The dinosaour hos a lot of bhig teeth.

The dinoscur hos a lot of bhig teeth.

The dinosour hos a lot of bhig teeth.
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